KBS:  TEST 2.




Name:

Problem 1.  Assume that {Table 1, Table 2} represents distributed knowledge system. Find all certain and possible objects in  Table 2  satisfying the query  q = (a,3)*(d,2)*(f,1).  For a definition of a non-local attribute contact Table 1.

Assign the confidence to all objects retrieved.


a            b
     c
         d        
f

	x1
	   1
	   1
	    2
	    1
	    1

	x2
	   2
	   1
	    2
	    2
	    0

	x3
	   1
	   2
	    2
	    1
	    2

	x4
	   2
	   1
	    1
	    2  
	    1

	x5
	   3
	   1
	    2
	    2
	    0

	x6
	   3
	   2
	    1
	    2
	    1

	x7
	   2
	   2
	    1 
	    2
	    2


Table 1.


a            e
     c
         d        
g

	y1
	   1
	   1
	    2
	    1
	    1

	y2
	   2
	   1
	    2
	    2
	    0

	y3
	   1
	   2
	    2
	    1
	    1

	y4
	   1
	   1
	    1
	    1  
	    1

	y5
	   3
	   1
	    2
	    2
	    0

	y6
	   3
	   1
	    1
	    2
	    1

	y7
	   3
	   2
	    2
	    2
	    1


Table 2.

Problem 2.  Assume that {Table 1, Table 2, Table 3} represents distributed

knowledge system. Find all certain and possible objects in  Table 2  and  Table 3  satisfying the query  q = (a,3)*(d,2)*(f,1).  You have to contact other tables for definitions of non-local attributes either in Table 1 or Table 3. Assign the confidence to all objects retrieved. Explain your strategy.

g
   a
    e
         b
	z1
	   0
	   2
	  1
	   1

	z2
	   0
	   2
	  2
	   1

	z3
	   0
	   1
	  2
	   2

	z4
	   1
	   2
	  1
	   2

	z5
	   0
	   2
	  2
	   1

	z6
	   1
	   1
	  1
	   2


Table 3
